IHSE Sample TASC Exam 	MEOC	Mr. Jemison
1. During a sale, an appliance that costs $275.00 is being sold at a discount for $220.00. Which equation can be used to find the rate of the discount, d, during the sale?
[image: ]
2. The graph shows the distance between an airplane in flight and its destination airport.
[image: ]
[image: ]
3. Small boxes and large boxes are stacked together on a pallet. 
• The total number of boxes is 10. 
• The small boxes weigh 5 pounds each. 
• The large boxes weigh 12 pounds each. 
• The total weight of the boxes is 78 pounds.

[image: ]     [image: ] 
4. 
Albert Einstein’s theory of relativity is  where E is energy, m is mass and c is the speed of light. State the equation in terms of mass.
[image: ]
5. 

An accountant is using the expressions and to calculate the total compensation for employees in two departments of a business. What is the sum of the two expressions?
[image: ]

6. 
Which equation could be used to find the zeros of?
[image: ]

7. Consider the steps that a mathematician writes as she solves the equation 


.
Which statement explains why the solution following Step 2 is a valid step?
A. If you add 2 to both sides of an equation, the sides remain equal. 
B. If you divide both sides of an equation by 2, the sides remain equal. (Correct response) C. If you multiply both sides of an equation by 2, the sides remain equal.
D. If you subtract 2 from both sides of an equation, the sides remain equal.

8. 
What is the solution to the equation?
[image: ]
9. 
The equation can be used to find the total height of a ramp, in meters, given the distance, x, in meters, from the beginning of the ramp. What is the value of x in meters?
[image: ]
10. 
Which of these shows an equivalent form of  by completing the square?

[image: ]









11. 
Consider the equation 

For , what is the value of x?
                 [image: ]
12. An object is launched at 14.7 meters per second (m/s) from a 49-meter tall platform. The

equation for the object's height s at time t seconds after launch is  
where d  is in meters. When does the object strike the ground?
	[image: ]
13. Consider the system of equations.


Which ordered pair is the solution to the system of equations?
[image: ]	


14. [bookmark: _GoBack]An economist has recorded the stock price of Company A after the initial stock sale
[image: ]

       [image: ]
















16.	Which graph represents 

[image: ]






17.	The formula  can be used to find the perimeter of a rectangle, , given the length, ,and width, 􀝓, of the rectangle, Which interpretation of is correct?

A. The perimeter of a rectangle is twice the area of the rectangle.


B. A rectangle has two sides of length  and two sides of length 􀝓. (Correct response)
C. Half of the perimeter of a rectangle is equal to the length of one side of the rectangle.
D. To find the perimeter of a rectangle, add all the lengths of the sides of the rectangle  
       and double it            
	

18.	Which expression is equivalent to?
	[image: ]

19.	Which expression shows the simplified version of?
	[image: ]

20.	Which expression can be used to find the zeros of?
	[image: ]
21.	Look at the angle
	[image: ]
[image: ]
      [image: ]



22.	Look at the transformation.
	[image: ]
	Which rule describes the transformation shown?
	[image: ]

23.	Find the volume of the rectangular prism in cubic centimeters.
	[image: ]

24.	A tennis ball has a diameter of 2.7 inches. Tennis balls come in containers shaped like
Cylinders. Three tennis balls, stacked one on top of the other, fit exactly into the container. What is the approximate volume of a tennis ball container?
[image: ]
25.	A tennis ball has a diameter of 2.7 inches. Tennis balls come in containers shaped like
cylinders. Three tennis balls, stacked one on top of the other, fit exactly into the container. What is the approximate volume of a tennis ball container?
[image: ]
26.	A tank in the shape of a right cylinder contains 2,400 liters (l) of gasoline. The weight of the gasoline in the tank is 1,800 kilograms (kg). What is the density of the gasoline in the tank in kilograms per liter?

	[image: ]


27.	A contractor is determining the maximum size of a new concrete patio for a customer.
	[image: ]
	[image: ]

                 [image: ]













28.	Jorge is kicking a hacky sack 10 feet from a flag pole.
	[image: ]
	   [image: ]

29.	An employer is using the function to calculate the total amount of money required each week to pay his employees.
	[image: ]
		[image: ]





30.	The total cost to build a house can be calculated by multiplying the price per square foot by the number of square feet of the house. Let x be the number of times 25 square feet is added to the size of the house.
	[image: ]
31.	Which set of ordered pairs represents a function?
	[image: ]


32.	If?
	[image: ]













33.	Look at the graph.
	[image: ]
	What are the x- and y-intercepts?
	[image: ]




















34.	The graph shows the depth of the snow at Spencer’s Creek, New South Wales, after March 15, 2005.
	[image: ]


35.	The table shows values of a function.
	[image: ]







36.	The function  is used to model the amount of fuel in the fuel tank of a truck as it travels at a constant rate.
	[image: ]


37.	What are the x- and y-intercepts of the function ?
	[image: ]














38.	Which equation best matches the graph shown?
	[image: ]

39.	Sara is practicing her diving. Her height (h) above the water, in meters, is given by the equation, t seconds after Sara leaves the diving board. How many seconds does it take Sara to hit the water?
	[image: ]

40.	Which three equations represent exponential decay? Select all three (3) correct answers.
	[image: ]


41.	Consider the table of values for the function  and  as shown in the graph
	[image: ]
42.	Which table displays an exponential function?
	[image: ]
43.	A technician is testing the voltage drop of two batteries. The data are shown in the table.
	[image: ]
44.	The table shows the increase in the balance of an investment account after the year 2000.
	[image: ]

45.	A company uses a graph to show the costs for shipping an envelope. For example, an envelope that weighs 5 ounces (oz.) costs $4.00 to ship
	[image: ][image: ]
46.	Andrea is comparing two options for investing an initial amount of $5,000 in an investment account.
Investment option 1: An additional $52 is added to the investment account every month.
Investment option 2: An amount equal to 1% of the current value of the account is added to the account every month.
As the amount of money in the account grows over time, which investment option will make the most money for Andrea? How many months will pass before the better investment option exceeds the other option?
A. Investment option 1 is better; it will always exceed option 2.
B. Investment option 1 is better; it will exceed option 2 after 9 months.
C. Investment option 2 is better; it will always exceed option 1.
D. Investment option 2 is better; it will exceed option 1 after 9 months.


47.	A company uses the function  to calculate shipping costs.
	[image: ]

(Calculator use is permitted for this item.)

48.	The density of salt is 80 pounds per cubic foot (lb./ft.).
	[image: ]
49.	One gallon of paint covers 375 square feet of wall space. How many whole gallons of paint are required for 2,350 square feet?
	[image: ]





50.	What is the value of?
	
	[image: ]
51.	How many possible outcomes are there if two six-sided number cubes are tossed?
	[image: ]

52.	Luke polled the students in his English class to see whether they read a book or watched TV the night before. He put the results in this table.
	[image: ]
	[image: ]


53.	Look at the Venn diagram.
	[image: ]
	[image: ]

54.	From a group of 12 employees, 3 workers are to be randomly selected to serve on a safety advisory panel.
Which sampling method is most likely to result in a random sample?
	A. Consult with the accounting office, and then select the first three names on the 	         	     payroll.
	B. Send the employees home, and then select the first three who come to work in the
	    morning.
	C. Place the names of the employees in a hat, mix them thoroughly, and select three
	      names from the mix. (Correct response)
	D. Ask the group for volunteers, create a list, and alphabetically select the first three
      workers who volunteer.










55.	The illustration shows a game in which a person spins the arrow and wins one of six 	prizes based on where the arrow stops. Each segment of the circle in the game is the 	same size.

[image: ]

56.	A medical researcher is selecting participants for a study on the effects of a drug on 	memory. She is separating the participants into two groups. The first group will receive 	the drug and the second group will receive a placebo.
	   [image: ]

57.	A movie theater recorded the number of tickets sold for two movies each day during one 	week.
	Box plots of the data are shown.
	[image: ]
58.	A car dealership has 46 cars for sale. The least expensive car costs $10,959. The most
	expensive car costs $21,250. The mean sales price for the 46 cars is $17,450. Another 	car, priced at $32,675, is added to the dealership’s inventory.  Which two statistical 	measures will not necessarily increase? Select two responses.
	[image: ]

59.	The frequency distributions of two data sets are shown in the dot plots.
	[image: ]

61.	The table shows the number of students in an area who use corrective eyewear.
	[image: ]





62.	As shown in the table, the trend line , is a linear model of the price 	of gasoline for this time period.
	[image: ]
















63.	The Centers for Disease Control and Prevention (CDC) has provided a graph that 	groups 	students by the grades they earned. It shows the percentage of high school 	students in 	each group who drank soda at least one time per day.
	[image: ]


















64.	The side lengths of a trapezoid are marked as shown in the diagram.
	[image: ]
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A. (3,0)and (0, -1)
B. (1,0)and (3, 0)

C. (-3,0)and (0, 1)
D. (-1,0)and (-3, 0)




image67.png
Which equation best matches the graph shown?
A-C+3
B.)2+3
C.o0+2
D.XC+2
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‘Which function has the smallest minimum?

A, f(x) has the smallest minimum, located at (-2, 2).
B. g(x)has the smallest minimum, located at (-0

C. F(x) has the smallest minimum, located at (2, -2).
D. g(x)has the smallest minimum, located at (~1.25, =0.5)

1.25)
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Time | Voltagein | Voltage in
(hrs) Battery A | Battery B
0 12 12
2 10 10
7] 8 6
3 6 2

Which battery shows a linear relationship between voltage and time, and why?

A. Battery A, because the rate of change in the voltage is a constant —1 volt per hour
response)

Battery A, because the rate of change in the voltage is a constant =2 volts per hour
C. Battery B, because the rate of change in the voltage is a constant =1 volt per hour
Battery B, because the rate of change in the voltage is a constant =2 volts per hour
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‘Which of these is not true?

A. The balance in the account is growing every year.

B. The balance in the account is increasing by 5% each year.

C. The rate of growth i this account is about the same for every year.
D. The same amount of money is being added to the account every year.
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If C(x) is the cost to ship an envelope that weighs x ounces (0z.), which function can be used to
calculate the costs for shipping?

A C(x)=02x
B. C(x) =08x
C. C(x)=02x+3
D. C(x)=08x+3
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image79.png
C(x) is the total cost (in dollars) to ship an envelope.
x is the weight of the envelope in ounces

‘What do the values 0.2 and 3 represent in the function?

oowm»

The cost to ship a 3-ounce envelope is $0.20.

The cost to ship a 0.2-ounce envelope is $3.00

The cost to ship an envelope is $0.20 plus $3.00 per ounce.
The cost to ship an envelope is $3.00 plus $0.20 per ounce.
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What is the approximate density of salt in kilograms per cubic meter (kg/m?)?

36 kg/m?
176 kg/m®
1282 kg/m®

A
B
c
D. 2827 kg/m®
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Read a book Did not read a book
Watched TV 12 8
Did not watch TV 7 3

What is the probability that a student who read a book did not watch TV the night before?
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What is the probability of Event A or Event B occurring?
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‘Which statement illustrates that winning any one of the prizes is the result of random selection?

A. During the first six spins of the game, each prize will be awarded.

B. Over time, one of the six prizes will be awarded more than the others.

C. If one prize is awarded six times in a row, it will not be awarded on the next spin.
D. As more people play the game. the same number of each prize will be awarded
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Which of these is a good method for ensuring a random selection of participants in each group?

A. The participants should be selected based on their age.

B. The group selections should be made by selecting names out of a hat.
response)

C. The men should be in one group and the women should be in the other.

D. The participants should be allowed to choose which group they want to be in.
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Tickets Sold for Two Movies

Moviex o
Movie ¥ .

350 400 450 500 550 600 650 700 750 800 850

Number of Tickets Sold Daily
Based on the box plots, which of these statements is not true?

A_ On at least one day, Movie X sold fewer tickets than Movie Y_

B. On at least one day, more tickets were sold for Movie Y than for Movie X_

C. The median number of tickets sold daily is greater for Movie X than for Movie Y.

D. There is a greater range in the number of tickets sold daily for Movie X than for Movie Y.
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Which statement is true for these data sets?

A
B.
C.
D.

The mean of the data sets is equal, and the median of Set 1 is greater than Set 2.
The mean of the data sets is equal, and the median of Set 2 is greater than Set 1
The median of the data sets is equal, and the mean of Set 1 is greater than Set 2.
(Correct response)

The median of the data sets is equal, and the mean of Set 2 is greater than Set 1
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Age Uses only | Uses contact
prescription lenses
glasses.
Less than 10 13 2
10-13 33 6
1417 38 18

To the nearest hundredth, what is the relative frequency of students who use only prescription
glasses?
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image94.png
xis the month after January 2013.
yis the monthly average price of a gallon of gasoline in dollars.

Price of Gasoline, 2013
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What does the value 3.77 mean in the context of this graph?

The price of gasoline averaged $3.77 in 2013.
The price of gasoline decreased about $3.77 during 2013.

The price of gasoline was about $3.77 at the beginning of 2013.

The price of gasoline was predicted to be about $3.77 at the end of 2013.

oo w»
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Porcentago of High School Students Who Drank a Can, Botlo, o Glass of Soda or Pop at
Least One Time Per Day, by Type of Grades Eamed (Mostly A's, B's,C's or D's/F's), 2009
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Which conclusion can be drawn about the relationship between drinking soda and getting poor
grades?

A. Drinking soda causes students to eam poor grades.

B. Getting poor grades more likely causes students to drink soda

C. There is a correlation between drinking soda and earning poor grades.

D

There is no relationship between drinking soda and eaming poor grades.
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The area of a trapezoid is A =
by = base two,

h(by +by), where A = area, h = height, b, = base one, and

Using the fewest number of terms (simplest form), write an expression to represent the
perimeter of the trapezoid

Using the fewest number of terms (simplest form), write an expression to represent the area of
the trapezoid.
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A 29a

B. 10a+11b

C. 10a+5b + 6c
D. 10a +9b + 2c




image11.wmf
10

3

2

-

-

=

x

x

y


oleObject4.bin

image12.png
A (x=2)(x+5)
B. (x+2)(x-5) =
C. (x+2)(x-10)=0
D. (x +2)(x+10) =0
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A (x-3)2=16
B. (x+3)?=16
C. (x-32=2

D. (x+372=2
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What was the value of the stock price of Company A 10 months after the initial stock sale?
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A x=5)x+7)
B. (x+5)(x~-7)
C. @-7x-5)
D. (x+7)(x+5)
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A 220-d =275
B. 275-d =220
C. 220 -220d =275
D. 275 - 275d = 220
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‘Which name for the angle is not correct?
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A. Reflection across the y-axis B. Reflection across y = x

C. Rotation 180° about the origin D. Translation 2 units right
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The patio is to be rectangular.
The thickness of the patio is to be 6 inches.

The width of the patio is to be 12 feet.

The cost of the concrete is $80.00 per cubic yard
The budget for the concrete is $320.00.

What is the length, in feet, of the largest patio that can be constructed with these conditions?
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Diagram is not drawn to scale.

How tall is the flag pole to the nearest foot? (Calculator use is permitted for this item)
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Distance to Airport

Distance (miles)
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0 05 1 15 2 25 3 35 4
‘Time (hours)

Which equation can be used to calculate the distance, d, between the airplane and the airport in
relation to the number of hours, h, that the airplane has been flying?
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| The total number of employees is 5.
«  Every employee eams $9.75 per hour.
«  Every employee works the same number of hours, h, each week.

Which function models P(h)?
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P(h) =5h

P(h) = 9.75h
P(h) = (5)9.75h
P(h) =9.75h +5
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* Theincrease in the price per square foot can be modeled by the expression 30 — 2x.

« Theincrease in the number of square feet in the building can be modeled by the
expression 200 + 25x.

Which of these represents the cost to construct the building as the price per square foot
decreases and the size of the building increases?

A. 200+ 23x
B. 230 +23x
C. 6000 — 50x*
D.

. 6000 + 350x — 50x%
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A{(1,3),(2,-9),(0,4),(-1,-3), (2,5}

B.{(1,3),(-2,-5),(0,4), (-1,3), 2, -5}
CA(=1,3),(-2,-5),(0,4), (-1, 3), (2, 5}
D-{(1,3),(-2,-5),(0,4), (1,-3), 2, -5}
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image3.png
A. d =300

B. d = -300h

C. d =1200 +300h
D. d =1,200 - 300h
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(0,-1)and (2, 0)

(0, 1)and (-2, 0)
. (-1,0)and (0, 2)
. (1,0)and (0, -2)
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‘Spencer's Creek Snow Depths - 2005

When there is snow on the ground, the function D(f) models the depth of the snow at Spencer's
Creek over time. What is the best description of an appropriate domain for D(t)?

all integers between 0 and 150

all integers between 90 and 240

all real numbers between 0 and 150
all real numbers between 90 and 240
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Determine the average rate of change of the function from £(3) to £(6)
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*  f(x) is the amount of fuel in the tank in gallons.
s the number of hours after the truck begins the trip.

Which sketch of the graph of f(x) correctly shows the x- and y-intercepts?
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